Linear Regression Practice           Name______________________________  Period  ___________
	1.
	The heights and weights of Coach Gagolewski’s baseball team are listed below:
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a.  Create a scatter plot of the data above.
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b.  What is the equation of the line of best fit?  (round values to the nearest integer)


c.  What is the approximate weight of a new player who is 74 inches tall?




	














	

	2.  
	Mrs. Rudick compared the number of homework assignments her students completed with their test scores.  The data is recorded in the table below.  Fifteen homework assignments were assigned for this unit.
[image: ]
a.  Write the equation of the line of best fit, rounding values to the nearest hundredth.

b. What score would a student who completed 7 homework assignments be expected to receive on the next test? 

c. Approximately how many homework assignments did a student complete who received an 88 on the test?

d. Create a scatter plot of the data.

[image: ]



	







	

	3.
	[image: ]
[image: ]



	4.
	[image: ]

	5.
	[bookmark: _GoBack][image: ]



image6.png
c) Using this equation, predict the population in 2010.

d) In what year was the population 45,0007
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4. The following table shows the results of someone following a diet
program:

Week | Weight |

0 300
1 295
2 291
5 278

270
12 255
17 238
22 220
28 200

a) Write a linear regression equation for this data rounding values to the
nearest thousandth.

b) After how many weeks would this person be expected to weigh 175
pounds?

¢) What would this person be expected to weigh after 30 weeks?
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7. The following table shows the number of newspapers a publisher sold
per month in a certain area.

Year | Newspapers
1965 40,578
1970 35,255
1975 31,185
1980 27,245
1985 24,740
1990 22,100
1995 20,250
2000 18,350
2005 17,500

a) Using “65” to represent 1965, write an exponential regression
equation. Round values to 4 decimal places.

b) How many newspapers would this publisher expect to sell in 2015?

c) In what year would this publisher expect to sell less than 10,000
newspapers?
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Height (in inches) | Weight
68 186
64 160
70 188
73 200
66 180
68 184
72 192
70 196
72 204
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Homework completed | Test score
5 73
8 82

10 86
15 93
2 58
12 90
6 62
13 97
9 80
12 92
14 98
4 60
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3. The population of Urichsville has been recorded in the following
chart.

Year | Population
1960 | 82,475
1965 | 76,290
1970 | 70,145
1975| 65,380
1980 | 60,920
1985 | 52,145
1990 | 48,270
1995| 40,195
2000 | 35,690
2005| 30,485

a) Find the correlation coefficient to the nearest tenth.

b) Using “60” to represent 1960, write the equation of the line of best fit.
Round the values to the nearest integer.




